STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: JUNE 15, 2022 AT 2:00 PM

CONTRACT ID: 12032477

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD COUNTY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON 55 ORANGE STREET ASHEVILLE, NC 28801

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12032477

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator, Divided Primary Routes	70	SMI	425	29750
2	SP	Long Arm Mowing, Undivided Primary Routes	212	SMI	425	90100
3	SP	Long Arm Mowing, Secondary Routes	615	SMI	425	26/375

THE RESERVE TO SERVE THE PARTY OF THE PARTY	TOTAL BID FOR PROJECT: \$\\\ 38 \\ \ 35
F	Contractor: Little is Entroppy, 3 e LLC Address: P.D. Box - 1527 Fovest City NC 28043 Phone: 828-429-5722 Federal Id: 462992143
F	Contractor's License Number: Authorized Agent: DAMES AMP Title: Managing Member Signature: Date: 6-75-22

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: JUNE 15, 2022 AT 2:00 PM

CONTRACT ID: 12032477

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY: RUTHERFORD COUNTY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Atoah Contracting LLC

NAME OF BIDDER

116 Lower Mill Creek Drive, Robbinsville, NC 28771

ADDRESS OF BIDDER

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON 55 ORANGE STREET ASHEVILLE, NC 28801

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: 12032477

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator, Divided Primary Routes	70	SMI	\$950.00	\$66,500.00
2	SP	Long Arm Mowing, Undivided Primary Routes	212	SMI	\$800.00	\$169,600.00
3	SP	Long Arm Mowing, Secondary Routes	615	SMI	\$800.00	\$492,200.00

TOTAL BID FOR PROJECT: \$728,100.00

Contractor: Atoah Contracting LLC	
Address: 116 Lower Mill Creek Drive, R	obbinsville, NC 28771
Phone: 828-735-1980	Federal Id: 85-3034804
Contractor's License Number: N/A	
Authorized Agent: Logan Carver	Title: Member
Sionature:	Date: 06/14/22